
700 900 1100 x 1900

Tübingen, by the

same company that

owns "Neckarmüller"

Tuebingen, USA, by a

local businessman

x Pirque, Chile,

founded by former

exchange students

Shenyang, China, as

a "german tradition"

beer brand

1477 1589 1872 x 1998

Dance videos x Shaking sound Social media Trend setting

x Giselle Knowles Sasha Fierce Solange Piaget Yoncé Brown

x Barbie Oppenheimer Poor Things The Holdovers

Fifty Shades series

by E.L. James

x Harry Potter series

by J.K. Rowling

Percy Jackson series

by Rick Riordan

Twilight series by

Stephenie Meyer

Christian tradition, to

align with the Moon

cycle.

x To align the calendar

with Earth's orbit around

the Sun.

To prevent a specific

date from always falling

on the same weekday.

Like daylight

savings, to get more

productivity.

Valid answers: The lid cannot fall in - Easy to roll - Tube underneath is round

KUCKUCK

PUB QUIZ #06

TEAMNAME: ___________________________________

PLAYER NAMES: _______________________________________

RULES: No phones! No google! - Max. 5 Players / Team - Multiple answers possible! - 1 point per question

The winning team of the evening gets to pick a shot for everyone else!

Section 1: Do you know Tübingen?

1. Approximately how many students live in the WHO-Dorms?

2. Where was the "Tübinger Craft Beer" brewery founded in 2007? PS: not referring to Freistil, the

local brewery.

3. Since when is a palm tree been the official logo of the University of Tübingen?

Section 2: Popcorn Science

1. TikTok in China is called Douyin, which translates to this in English:

2. What is Beyonce's name?

3. Greta Gerwig directed this box office smash, released in 2023. Not so stereotypical after all

4. Name the best-selling book series of the 21st century?

5. Why do we have the 29th of February (a leap year)?

6. Why are manhole covers round?

7. There are 3 bag. One labeled “Onions.” One labeled “Potatoes.” One labeled “Onions & Potatoes.”

They are all labeled incorrectly. You can reach into ONE bag, and pull out ONE vegetable, and by

doing so, you need to correct all labels. How can it be done?

□ □ □ □

□ □ □ □

□ □ □ □

□ □ □ □
□ □ □ □
□ □ □ □
□ □ □ □

□ □ □ □



Pull a vegetable from the "Onions & Potatoes" bag. If you pull an onion, that bag is actually

onions. The bag labeled "Potatoes" must be onions & potatoes, leaving the last bag as

potatoes.

x 31st June 1700 x 31st November 1800 x 29th February 1900 29th February 2000

Bavaria (Bayern) and Bremen

3 6 x 8 10

Burj Khalifa, United

Arab Emirates

x Mount Chimborazo,

Ecuador

Mount Everest,

Nepal

Mauna Kea, Hawaii

Atlantic, Pacific, Indian, Arctic and Southern (aka. Antarctic)

France, Germany, Austria, Slovakia, Hungary, Romania, Moldova, Ukraine, Russia,

Kazakhstan, Mongolia, China, United States, Canada

you still have 18 apples (you just took 2 out of the packs)

154 + 529 = 683

145

Multiple solutions: Build a three-sided pyramid. A Hexagram. XX closed at head and feed by

matches.

Reflects diagonally from the upper right corner, continuing clockwise on each diagonal.

The fifth square looks the same as the first.

8. Which of these days (multiple) does not exist?

Section 3: Let's explore the world

1. Of Germany’s 16 states, these two are at opposite ends of the country begin with the same letter

and are the largest and the smallest.

2. How many countries border mainland France?

3. Because of the Earth's curvature, the equator is closer to space than the poles. What is the point

on Earth closest to space?

4. Can you name the Earth’s five oceans?

5. Tübingen is situated approx. on the 48th parallel north. There are 14 other countries around the

world that lie on the same latitude. Give me eight of them. (Tip: Czech Republic is not one of them)

Section 4: Are You Smarter Than A 6th Grader?

1. If you have 3 packs with each 6 apples inside and you take out 2 apples, how many apples do you

have?

2. This addition problem is wrong, but you can fix it by removing three digits-one from each of the

three numbers.

1854 + 5294 = 7683

3. How high is the table?

4. You have 6 matches, now try and make 4 equilateral triangles. You cannot snap or bend the

matches.

Bonus Challenge

Fill in the last boxes to continue the pattern!

□ □ □ □

□ □ □ □

□ □ □ □


